A=10— K 18170704

JAAF

NAGANO

(1]

554

AAEPE L EFIERS

0 Ik 5

HA H 2018%F6AH108 (H)
= 5 KEEESNEFE RS GRds I1— R 174110)
£ {13 AEPE EaERts - KETHPE i s - At ZSEME s
H & KEMBEEZEES KB EEZERERES
% b7 A KEhAE s It Z 2B S
tZEHES SE8HHEE
* =] AEPE EaEiits - KETHPE ESRidhs - At L SEME s
i % BZE RIE
g2 ¥ E A+l EE
iR - BRERE . BE BF
B DRSS THEIN SNz iR
SCERDIERE | ISR S| S59> Hst K#&(FHF) FhiE ERDEE TR
RKEF |+h%&F| 200m RS 26749 EEYI(3) | AEIE—| 2783
KEHT |2 F| 100m T 1578 AR (4) AHTAE/)N 16720
A |w2sEF|[srrvvozo-| B 35m84 frfgEs=}(2) | KEJZE—d| 35m71
KEHT |M#aF| 100m RS 15#5 AR (4) AHTAE)N 16720
KESFA |+2s712[ 100m TR 12#3 FAREE() A=) 1273
AEFh |[hvEaF| 4x100mR | SREs 1902%3 JLREFE(5) wmIN | 1903%
1EZEIXEA(5)
N FE(5)
ZUFHTY 2 R(5)
RSO RIOFT423>
Bzl | XM | SR | 2E | BE | REER Bz | XM | R | ZE | BE | REE
(C) (%) (m/s) () (%) (m/s)
8:30 | 0 | 18.0 | 80 £ 0.3 11:00] 2D [ 205 68 | dt& | 0.1
9:00 [ 20 [ 19.0 | 76 = 0.1 12:00| 2D | 20.5 | 68 B[7 0.4
10:00| 2D [ 195 76 | m= | 1.4 13:00 D [ 21.0 | 69 £ 0.2
B KIEDEES DA B+ —)L REHE(CH I DS D5
FS  FREXZ—b (R162-7) O  mIh - B
TL  fommEEBELRE (R163-2) GEEDL - HE)
T2  fisdL—>(C A>Tz (R163-3a) X BN - DAY
T3 BRDOSX. ARIST> ExzEToRfAZEDZ (R163-3b) - JAVZS
T4  TLAOSAFHCL—2EBNARIICAS R (R163-5) r RanRE
TS EREHN NSO SEFCER L (R163-6)
T6  )\—RILEHZEH >/ (R168-7)
T7 REX(EHN ) \— RILEEHE LU TN —DESKDEVVIEZED/Z (R168-7a)
T8 WE(C/\— RILZFIUE (R168-7b)
Rl UL—TFAY - A==V —=2RT/V ) ZBRT Uiah o 7z (R170-7)

OREFXEZEERY

(1-2) :1FE-2FE (2-3) :2FE-3E (3-4): 3E4E




%54@7(1[‘.[5*1:@?*%7(‘“ (K&a—F: 18170704)
A KeELEBRRGS - KETHELRERRS
S - kﬁTl"ﬁ%ﬁlﬁzEz kit%ﬂlﬁzﬁxé%ﬁ’rﬁimx

- LR EME L HE

®ig KETT - KETHABERE - AREHELR - LLREMARENE - EREEAFHEL
RBRE—ER
(GR-KX&% ) x F [ERi5] 174110 KETHIES A EREEFFF
141 2 fi \ 3fi 4 i1 [ 5 fi1 [ 7 61 8 fi
BA/8 i B Ak K& PR it BEK&FE i KB E ic BEK&RE it RKA TR i HREZE it BEK&FE it R KA TR it &%
06/10 | &% TN ESS 11,31.5
3000m — % - RE T RER
06/10 |[4FELF -0. 6 ch#f KEa (4) 15.5| K% #ikE (4) 16.4 NI =41 4) 16.6 /g 1 4) 17.1 28 ¥A @) 17.3|hi8 82 @) 17.9 #iE EE @) 18.0/Iy31 b EHYI4UT( 18.8
100m IV - KETIE /N GR /N - KETHEG/ INEE - KETER/IN IV KETER/IN I - KBTI/ INEE - KETR /N IV - KETRI/N INE-B BRI/
06/10 hZELF1E +0. 188 #=(1) 14588 #& (1) 14.8 ¥175-tY-+ INE( 15.5 F4 FEX) 15.6/J\FA /& (1) 15. 918K % (1) 16. 0/ 5B HL A (1) 17.5
100m hE-gEG F2-EHEG hE-gEG - KETE— FE-mgE5G hE-CHES h2-EHEG
06/10 thE& F24 0.0 L& Ex=(2 16.4
100m - CH e
06/10 |k F3E 0.0/® %1% (3) 13.3|lu— EF Q) 14.2 X5 &% () 1447 HRE®Q) 144 £R Q) 15.1
100m ke i A N3] hZ-Jb =) - KBTS — h®-gE4 hZ- /A
06/10 thzrkx F +1.2ER 9¢0) 26.9/MAH B (3) 28.1 EH #KQ) 29.0|® ®wAE@M) 2971k E®Q) 29.8
200m - KETE—h GR |- EHEMS ek kA N3] hE®-gE54 f2-—f#EH
06/10 WT 8k (2) 2,32.9 T E£Q) 2,42.0 kAR #£52) 2,42.2BK HL() 2,54.6 ¥R HFE(2) 2,549 BEF #aFEEN)  3,10.8 db4k K (1) 3,18.8
800m ¥ —HEF fZ-mE5G ek i A N3] - bR B aake b A N ] - Jb R B hZ-g &5t
06/10 TiE EREQ) 5,24.6 78 Hnif (2) 5,28.0 XHE EaFi (1) 5,37.7 8 BEM(2) 54118 s0OMn(0) 548744 EF Q) 5,50.5/;%0 EE (2 5,568.2 A FE) 5,58.6
1500m h¥-gE4 fZ-/pA hE-ZHES - bR B fZ-gE5G - NA - Jb =) ek kP A N 23]
06/10 -0. 81k 23(1 24.1
100mH (0. 762m) R
06/10 iE'iJE’Dbb(ZM 06(-1.2) EA& 3 Q) 3.89(-0.7) ffﬁ%#d)'—) (3)3.79(-1.2) | BR #F (1) 3.70(0.0) "ix HA(2) 3.68(-1.0) ZE FEB) 3.68(0.0) HEH &EF (1) 3.56(-0.2) BREHLVA(1)2.94(-0.7)
FE R Bk h¥-gE4 F2-85 - ST - S fE- /Ao - NAg FE-g05G h2- ST
06/10 =po) }Ehﬂ 3) 10. 12|BTH 3E (3) 9.20 A& JN) Y @) 8.36 F#R HFIEQ) 1.72 8 umnY (2 5.46
FaALI% (2. 721kg) - KETE—h - Lﬂ’*ﬂh - ST hE-ZHEF FE-ZHED
06/10 Bl N 53.3 | KETE—h 56.7 BE%H 58.2 [/IhArh 1,01.1 Lﬂ“ﬂP 1,04.5
4x100mR — E&Q) Kfg Ex Q) B BaE®) i EAOQ) g EX(Q2)
R ®E Q) #1745 (3) BERE 255 (2) K0 §Z=(3) JIR 1’E,T(I)
He #KEQ) B:A JE AN (3) EAX Q) Z2E TEQ B 20)
BA B%Q) FEE 99 Q) BE #HE 1) Sl 3 (3) AXH BFE (1)
06/10 [bELF +L4RFHEBLE () 15. 3 #&iZE ki (5) 15.4/4tiR E¥E (5) 15.6 1L #F (5) 16.3 KH TE3L(5) 16.5 BIR #I3E (5) 16.8/{£ < K RIE () 19.9
100m| AN I =N NN INE- B EBTAVFYI57 INEE - KETIE /N INE - B EBTAVFYYY57 NN
06/10 ENTIN 1,02.3 BB/ 1,08.6 EE7ALFY977° 1,08.9
4x100mR bR B8 (5) GR o £#186) ik WX (5)
1#E Bpg () T /NE(5) g %+ (5)
hO FE(5) = "R (G) BT RTE ()
?&%E Ty 78 (5) =18 [5F (5) BlR #1% (5)
06/10 6&F&F -0.9/®mE —7E(6) 15. 486K BEFE (6) 15.8/FH &< (6) 15.9
100m IV - KETIE /N IV - KETRI/N IV KETER/N
06/10 /hELF WA #3(6) 3,39. 3| MR & (6) 3,39.8 #l &EF (5) 3,51. 425 =R (5) 3,55.7 =18 I5#1 (5) 3,58.3 Lo &= () 3,59. 1/#&:T <71 (5) 4,05.6 ;5% 1BE(G) 4,08.6
1000m INE-BEMN T2 I)F INE-AEMNF- T I - KETAE /N INE-BER/N INE-BER/N INE-B BRI/ INE-BETAVFYI95T INE-BEBTAVFYYY5T
06/10 A FEG) 1.15
= Bk IN=3 NI
06/10 B G6)  3.01(-0.1)
FE 1S Bk IN=2 N A
06/10 RE BBE () 14.74
Y an Yy hib iR NG RN




HELF

%ﬁ 6H108 | 9:05
R 6810H 11:35
100m
BNERER 13.06
X=#H (GR) 16.0
FiE BBEAE 248 35F + 2 O IBLLIEEBE o 44 LIEEEE
L1481 EE +1.7 [ 2481 AE +0.9
I& LY | No. E % Gi-F3 B%HWE | N LY No. : 3 il £3 BEHE
1 2 AREF#®@ 16.50 1 4 17chF EE@) 15.8 0
47 Ut KB/ This nt KA/ AR
2. 6 16 2@ XRW@ | 1710 2] 3 51 =LA@ 16.5 Q
s Fk PNGIEIN I 3 RETFRN
30 4 61 hE EEWG 1790 3 5  49MhE DEW@® I 16.7 Q
¥ 9 vk KHETREI/ 75 KETER /N
4 5 111034 BBy T INE 18.7 4 2 60 75iE XH (4) g 17.8 g
b PAYevTi- BB U4 0 S KBTI/
5 3 50 BiE LE@) 18.7
hny 3an KETE /N
R
EE -0.6
& -5 | No. E % Gi-F3 6 wE
1 5 17 %t Kra (4) INE 15.5
hh3 nt KBTI/ AL
20 4 JMEE ARG 16.4
49 Ut KB/
3 6 51 NIl EHI(4) INE 16.6
HHR 39 KETH/N
4T AME DEB 17.1
7 KHETER/
50 3 16Z@ EAMB 17.3
oy 9% KETIL/N
6 8 61 HhEEBEWG 17.9
1% 9 3tn KETRI/N
72 G0EE ERWG) 18.0
W KETRI/N
8 1 IV BEYv T INE 18.8
b PAYevTi- BB RN




SELF
100m

B/NGEER 13.06
X&#H (GR) 14.1
R 1%
BE +1.4

JE| -V No. K 4 R4 iR EE

1 8 T EFHE HaEG/INE 15.3
198" /8 NN

2 6 12t KEG) hE 15.4
1347 #5 NN

3 2 70 dtiR E#E(B) hE 15.6
440 % LNIEN

4 7 99 Ll #&F(B) hE 16.3
T % #5313 BET7ALFY977

5 4 19 KH &3 (B) Mz 16.5
5 2y KETIE /N

6 5 9% BR #E®G /NF 16.8
ahng ®3Y BE7ALFY977

7 3 14 £ K RIE () hE 19.9
i 798 /N

[RE

6A108

11:45]




6ELF
100m

[RE

6A108

11:55 ]

B/NGEER 13.06
X&#H (GR) 14.1
R 1%
A& -0.9

JE| -V No. K R4 iR EE

1 4 23/[REA —1E(6) 15.4
NG AFh KETAL /I

2 2 56 g5 K MBIE(6) /I 15.8
A F EXh AETE/

3 3 39 FFH =<5 (6) /M 15.9
¥/ %53 KETE/IN




INEXF

1000m

WG 3,03. 46
X&£#H GR) 3,28.1
R 1%

[ . K 4 R4 iR EE

1 1 88 LUHEH #3 (6) N 3,39.3
w49 BEMNT-IH7

2 3 87 YR E (6) N 3,39.8
¥4 7 3an BEMF-IH

3 6 26 B BEFG) 3,51.4
THT NV KETIE /I

4 9 9% REG) hF 3,55.7
#4b) Favh BERE/ND

5 5 8 =g IBFG) M 3,58.3
ahny £3Y BERE/D

6 1 10 1hO £&#2 (5) INE 3,59.1
0 F Y BE®/D

7 4 98 %I /<1t (5) N 4,05.6
191 Yyh BET7ALFYI77

8 2 97 Hix |REDB) INEFE 4,08.6
174 b BETALFYI957

9 8 522 BE W) hE 4,15.1
749 a7 KETH/IN

0 53 AR RFEWU) /NF

Y7 43 ptib KETER/IN Ri5

[RE

6A108

10:05 |




SEZF

4x

100mR

B/NEEER 53.07
A&#H C@R) 1,03.5

RB

v R4 No.

K

[RE

6A108

12:50 |

IE V-
1

3 W
KV PVEV]

2 aE®@Eh
MN 3F3Y39

4 BETAFYIITT
NN TRVFY9H37

%
LR E#E(5)
490 ¥
1#ZE B 5)
1347 %35
A FE(5)
"W F vt
BFHE HREG)
™98 174
o 1= 6)
W F Y
WT ME (5)
vv4 11%
=k mEO)
b *39h
=5 B G)
Ahny £3Y
ik IR (5)
174 EA
g #%F (5)
¥ F #5932
BT RTEB)
191 Yyh
BR #I3E(5)
4hn5 E3Y°

1,08.6

1,08.9



INEZF

EX 61080 11:00]
=
ENEEE
BN ERER 4.75
K&%H GR) 3.99
IERE S| on - E #& E% -1- -2- -3- -4~ -5- —6- Rk s |
11 298k 6) N 2.96 X X X 3.01 | 2.93 3.01
UV AHBTIE/ 0.0 -0. 1 0.0 -0. 1




— 1
IZNEZF (RE GH108__10.00]

ZE E7 ik

B/NEEER 1.38
A&#H C@R) 1.25
IEGL B fon - K 4 B4 m90 | m95 1mO0|1m05 1m10/1m15 1m20| 1m25 ik | BE
1 1 69/h00 3E(5) INE
9 F ) NS 0o 0 0 [0 0 0 (XXX 1.15




INEZF RE GHEI0E [ 9.00]

SN Y wOR—)LIR

B/NGEER 46. 48
R
LT R mRE | - - | - 4| 5 6 | E | W%
1 1 76 5kZE KBBEG =]
FE R MR SN X 1456 0 0 0 14.74 14.74




HZEZFIE RE GHI0E _12.05]

100m

B chEifk 12.05
X&£#H GR) 13.6
i
BEE +0. 1

JE| b-Y | No. K 4 R4 Bk HE

1 4 6824 mE = (1) thig 14.5
19/ 13 BEH

2 1 6748 Bl &E&H (1) thig 14.8
hang T4 = At

3 6 6834|y175-tY-+ /INE (2 15.5
v175-t)-t 113 BES

4 2| 6872|FE# TFE() thig 15.6
EIN Y TUT KETE—h

5/ 8 6829 /)\H /MNE&E) | 15.9
A anl BE4

6 5 6898/FEAX ¥ (1) theg 16.0
NEN 7Y —®E

7 1 6747 BRE HLvH(1) 17.5
298 74 = At

3 6895 #rH E/H()

734 14/ Z# &8 Ri5




HFELFIEF

100m

Bk 12.05
RK=#H (GR) 13.1
RB
BAZE 0.0
JE V-» | No. K R4 i EE
1) 2 6802 EfF #ER(2) # 16. 4
73V an ht CHEH

6A108

12:15]




e FI4E
100m

B chEifk 12.05
X&£#H GR) 12.9
R 1%
Ex&E 0.0
JE[ v-y [ No. K % £ B EE
1 3 6787 m &E Q) =2 13.3
N ¥ty =g
2 7/ 6786 1L— ZEH Q) g 14.2
Y947 3% L=
3 2| 6880/ Kfm = (3) & 14.4
=y 3+ KETEE—oh
4 4 6822 m BARE3) thig 14.4
N5 EER BE&
5 6/ 6853 ¥R (3) thig 15.1
DRV INA R
5 6930)IlE % @) theg
h7h3 #4 1—®& Ri5
8 6884 £6H #& @) theg
Y98 Tht KETE— Ri5

[RE

6A108

12:25]




FELF
200m

B chEifk 24.88
X&#H (GR) 27.3
R 1%
BEE +1.2

JE b-» | No. KE % £ o mE

1 2 6881 FER 33 Q) thig 26.9
NG AR KETEE—oh REH

2| 3 4669 ET BE(3) thig 28.1
41h #% LHEMG

3| 4 6788 HETP FKEQ) HF 29.0
Ath 743 L)1l

4 5 6822[E wieE(3) thE 29.7
Ny Tt BE&

5 6 6930 JIlE 2 (3) thig 29.8
h7h3 #4 Z®lEH

[RE

6A108

8:30 |




e -

100mH (0. 762m)

[6AT10B _ [10:45]

Bk 14.05
A&#H C@R) 15.8
RES
EE -0.8
I§| V- | No. K % =K & EE
1 6 6832k |() e 24.1
#by 34 BE+
16825 dt#k Fik(1) P
vy M BES Ri5




HhEZF RE GHE10E _11.05]

800m

B chEifk 2,13.56
X&£#H GR) 2,29.7
R 1%

JE| b-Y | No. K 4 R4 Bk HE

1 2| 6894/ #EXk (2) thig 2,32.9
WY 45 Z®lE&H

2 4/ 6821 FiE EHR@Q) thzg 2,42.0
YEY D 3f BE+

3 3 6792 FRAR #£F Q) |t 2,42.2
MR 1 =)

4 7 67T12EK HLA) B 2,54.6
4y 74 =)

5 5 6794 iR $Z=(2) thig 2,54.9
WD 71t L= )1l g

6 1 6773 ¥8F mEZEEN) =2 3,10.8
k/4 3 L&)

70 8 6825 dcAk FHK() 3,18.8
N4y M BEH

6/ 6884 £GH #(3) thig

J9%" Tht KETE— Ri5




FELF
1500m

B rhEnsR 4,28.36
Ke®H GR) 5.17.9
R

IE No. E £ mR% B EE

1 7 6821 T8 =R (3) % 5.24.6
YE D 3% BE&

2 8 6850 FE HEME(2) hE 5,28.0
VR E NS

3 5 6896 KM mEFI(1) 537.7
e I —®E

4 4 6793 BmE HIQ & 5 41.1
Y347 Tk Bl NS

5 3 6828 HE oM (1) = 5 48.7
7Y BE&

6 10 6841 dt#f EE(3) = 5,50.5
547 7Y e

7 6 67950 E|E Q) ) 5,58.2
19°F THh bl NS

8 2 6770@Ea FEA) ) 5,58. 6
v T ez

9 1 6831 {tE fE() b 6,20.7
NTD 75t BE&

10 9 6746 A B (1) 6,28.0
V) = L)

[RE

6A108

8:50 |




XF

3000m

B Eia 9,01.36
RK=#H (GR) 10,38.5
RES
IR No. K % =K vt - O -]
1 1 101 /MR =F — 1,31.5
Ay 3 REHHkEER

6A108

9:50 |




fEZF

4x

100mR

Y 2
ReH @R)

RB

v R4

48.17
52.5

No.

IE V-
1

2 de&=@ie
KL Pk EV]

6 KHETE—
TI9FY (47729

3 B¢
M F19

5 NS
t5F19

4 {Z—HEH
YUY A

6786
6787
6788
6790
6880
6885
6883
6881
6822
6823
6820
6824
6853
6851
6842
6843
6892
6897
6898
6896

Ny 1)

He #KEQ)
4th TR
A 2% (3)
NEF AR

=y 3%
Kigk #1745 (3)
7h3 )

B3 2 ()
Y347 Yoh
ER 99 0)
2ng Ar

R #\aE@Q)
Ny ¥4
BE 25 5(2)
o0 937
EA R Q)
hzxh )Y
HE #21)
19/ 13

E EAM)
E1 VAR
&0 §ZEQ)
YWF YRy
Z2E TEQ
#70 Fh

Al B3 (3)
W Yy
g EX(2)
VREVEN v
R EEA)
05 19t
B 20
NEN TA
AH ImF (1)
5 32y

& EE
53.3

56.7

58.2

1,01.1

1,04.5

[RE

68108

13:10]




— 1
hE L7 RE GHEI0E [ 9.00]

E Gk

Bk 5.74
X&£#H GR) 4. 71
JEGL B o - K 4 ik -1- -2- -3- -4- —5- —6- ECE% &E
1 9 6823 R 055(2) thg 3.97 4.06 3.91 4.00 3.93 3.82 4.06
| 43 Y737 BE& -1.1 -1.2 -1.5 -0.5 +0.1 -0.1 -1.2
2 T 6820 EA& Fifb (3) thzg 3. 66 X 3.69 3.89 X 3.87 3.89
| JzEh U4 BE+ -1.9 -0.4 -0.7 -0.6 -0.7
3 8 6758/ A#DY (3) thig 3.79 3.79 3.69 3.51 3.178 3. 60 3.79
| wWh3 3y =g -1.2 -0.3 -0.8 -0.6 +0. 1 -0.5 -1.2
4 6/ 6748 BlF @& (1) thig X 3.55 3.59 3.43 3.70 3.32 3.70
| AN 7% =g -1.3  -0.4 -0.6 0.0 -0.8 0.0
5 2| 6849 HiF ®BAR(2) theg 3.58 3.43 3.50 3.59 3.61 3.68 3.68
| 19 h bt INA R -0.5 -0.5 | -0.3 -0.7 -0.8 -1.0 -1.0
6 bl 6842 FE () theg 2.70 3.40 3.38 3.68 3.44 3. 61 3.68
| 74 Fh INA -0.1 -0.9  -1.4 0.0 -0.6 -0.8 0.0
7 3 6835 #rH EF (1) rhig 3.03 3.56 3.34 X X X 3.56
95 A BEH 0.2 0.2 -0.6 -0.2
8 11 67471 BRE HLyM () thig 2.75 2.82 2.81 2.5 2.5 2.9 2.94
=98 74h =L -1.0 -1.8 -0.7 -0.3 -1.2 -0.7 -0.7
4 6878 WA #EE(1) thZ Ri5
A% Y1l | KETE—h
10 6791/ 1LA AEFQ) R Ri5
Y8 933 =)




HELF

RE: 6R10H 9:00 |
el
=
EEFBk
B rhisR 1.75
K&EH  (GR) 1.54
B[ ERE o - K % FES 1m05 1m10/ Tm15/1m20 1m25/1m30| 1m35|1m40 1m45 o mE
1 6 6933 B £ @3) 3 _ o
1 6790;;[%**;(3) i P 0 0 X0 X0 XXX 140 4
EK ¥ £ R
, VR e S L 135y
3 7 6742 kE {50 % R
4 5 688523%;%2 3) Eﬁw i e
17 =2 I
5 4] 6851 Zﬂﬁ Z;W@) ﬁm%_qj ki e
|:| [z = =4 $
| 68932.; :/1;57)(2) g;@q] 0 0 0 0 X0 XX 1.25
6 1 Z UhL 3
‘ 6897 ﬂg 1%]25(1) Eﬂﬁ ; XXX’ Rl
6 3 WRE=S e
5 199 aEAPN 0 |XXK 1057
9 6934 HR & ®Q) ) T
A 47 9% —EA&
2| 6878 A HIE(X) 3 Ri5
A3 Va1l KETE—h




fEZF

EYE 68108 12:00 |
B h 8% 13.55
X&#H (GR) 12.08
R 1%
Bz BB Fon - . E;(ZS . ER -1- | 2= | 3-| 4| -5- | -6- | =8 -
1 5 6883 @A ;&3 2
5547 IME) Z'.SET%_EP 10.12 9.65| 9.84 | 9.96 9.44 9.54 10.12
2 4 6935 ETH FE®Q 2
y; o - Eﬂﬁqﬂ 9.10 9.20 8.98 8.97 8.58 8.89| 9.20
3 3 6758 A HDL E
}#};ﬁ Eé%* o i 8.13»7.52 7.34 8.07 8.36 8.18| 8.36
4 2 6932 K4 TES 2
?;.H 13;])(2) Eﬂﬁq: 7.27»7.72 7.33 7.37 71.52 1.51| 1.72
5 1 6893 B UL =
S5 £l R 5.46 4.95 5.33 4.12 5.11 5.20 5.46




